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Q1.Aspire Technologies is planning to raise capital from the market. Mcrchant Bankers to the
issue have advised them to use both debt and equity. The foll_qx_;}figg”detéils about the capital issue
are given. The equity shares are to be issued at Rs, 1 14, the ‘cu;fﬁ::hf“dividend is Rs5 and expected
to grow at a rate of 20%. Debentures of Rs.1000 face valye carrying a coupon of 12% and a term
of 8 years are to be issued, the floatation cost is 2%:_0f' fa__cé"vélue, issue price Rs. 980. The capital
structure of the company is shown in the table below. .

Liabilities Book Valig (Rs. Crore)
Equity 100
Reserves 400

Debt 200

a) Calculate the cost of equity "
b) Calculate the post tax cost'of debt
c) What is the WACC of the company?

CO3[2+2+2]

Q2. A new proj ect under consideration requires a capital outlay of Rs. 600 lakhs for which the
funding can be rdised by the issue of equity shares of Rs. 100 each or by the issue of equity
shares of the value of Rs400 lacs and a loan of Rs.200 lacs at an interest rate of 15%. If the tax
rate appiicable to the company is 30%, calculate the indifference point between these two
alternative financial structures. What is the range of EBIT over which the debt and equity
structure will be preferable?

CO3[3+2]
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Q3. Given below are the details of two projects A and B:

A B
Initial investment Rs. 40,000 Rs. 60,000
Life of project 4 years 7 years
Annual cash inflow Rs.15000 Rs.16000

Cost of Capital of the company is 15%. a} Calculate the NPV of the projects. b) If the projects
are mutually exclusive which of the two is better? c) Calculate the EANPV of the two_projccts.
d) Does it change the decision as in (b) above? E

COS[2+142+1]

Q4. What is the importance of working capital management to any organization? Discuss with
the help of an example of a small retail organisation. L
. COs5[3]

Q5. Answer the following in about 80-100 words.

a) Explain briefly the utility of an NPV profile. s

b) MIRR can be used for evaluation of projects with non conventional cash flows but IRR can’t

be used. Explain. S

¢) How does high amount of leverage in an organization in¢rease its riskiness?

d) How is the cost of equity estimated using Capital Asset Pricing Model?

C e CO5[2*4=8]

Q6. Answer the following in 1-2 lines. ,

a) What does the limited liability feature in the company form of organization signify?

b) How are sources of finance being used in an organization represented on the Balance

Sheet? s T

¢} Cost of goods sold is the sarne as Sales. Comment

d) What does the drawings account represent?

€) Why are preference shareholders indifferent to Earning Per Share?

f) How is depreciation recorded in the financial statements?

g) Which of the three types of accounts is not a part of the Balance Sheet?
o CO1[1%¥7=7]
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